Numeric_std conversions

library IEEE;     use IEEE.std_logic_1164.all; 

use IEEE.numeric_std.ALL;

ENTITY tb IS END tb;

ARCHITECTURE test OF tb IS

    signal x, y: unsigned(2 downto 0) := (others => '0');

    signal a, b: signed(2 downto 0) := (others => '0');

    signal m, n, o: integer range -15 to 15;

BEGIN

    n <= n + 1 after 5 ns;

    x <= TO_UNSIGNED(n, 3);     
-- Integer n to 3 bit unsigned

    a <= TO_SIGNED(n, 3);  

-- Integer n to 3 bit unsigned

    y <= UNSIGNED(a);


-- Signed to Unsigned 

    b <= SIGNED(y);


-- Unsigned to Signed

    m <= TO_INTEGER(x);

-- Unsigned to integer

    o <= TO_INTEGER(a);

-- Signed to integer

END TEST;
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IEEE.STD_ARITH.ALL
library IEEE;   

use IEEE.STD_LOGIC_1164.ALL;

use IEEE.STD_LOGIC_ARITH.ALL;  

use IEEE.STD_LOGIC_UNSIGNED.ALL;

ENTITY tb IS END tb;

ARCHITECTURE test OF tb IS

    signal slv_1, slv_2: std_logic_vector(2 downto 0) := (others => '0');

    signal u_1, u_2: unsigned(2 downto 0) := (others => '0');

    signal s_1, s_2: signed(2 downto 0) := (others => '0');

    signal n, i_1, i_2, i_3: integer range -15 to 15;

BEGIN

    n <= n + 1 after 5 ns;  

    slv_1 <= CONV_STD_LOGIC_VECTOR(n, 3); 

    u_1   <= CONV_UNSIGNED(n, 3);

    s_1   <= CONV_SIGNED(n, 3);

    slv_2 <= CONV_STD_LOGIC_VECTOR(u_1, 3);

    sl_2 <= CONV_SIGNED(u_1, 3);

    u2_2  <= CONV_UNSIGNED(s_1, 3);

    i_1 <= CONV_INTEGER(slv_1);

    i_2 <= CONV_INTEGER(u_1);

    i_3 <= CONV_INTEGER(s_1);

END TEST;
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